A game for 2-4
Zoo directors.
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Zoos. Success comes to the player who creates the largest attractions.
Plcg/ will want to build spacious areas for the various kinds of animals

and also attractive pathways for their visitors with park benches and

lots o tmis and bushes to appeal to botanical senses. il

All players a 200 éﬁr;%?rs nd Wﬁaﬁracf the most visitors to their
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4 starting tiles Aqua Shark

Villa Gorilla
Crocodome

- 1 flagpole

1 scoring block
1 rule booklet Y

25 zoo tiles

Preparation

Each player takes a zoo entrance, which he places in his play area (in front of himself). Then he places a starting tile next to
his zoo entrance.

ks * Each player takes 8 zoo coins, which he keeps hidden behind his zoo entrance. Place the remaining coins, the visitors, the trees,
1 and the park benches in the middle of the table. -

: * Place the flagpole to one side. Shuffle the flags of the zoos being used in the game face down and place them
. " face up in random order on the flagpole.

Shuffle the 25 zoo tiles face down and place them in a stack on the table.  (fig 1: initial setup for 4 players).

The zoo tiles
The zoo tiles show the following:

paths

bushes (not on every tile) bush
2 animal enclosures (each tile) with stars, animal enclosures

that represent the value of the enclosure \

in all, there are 5 animal types:
(= value of the

Apes (orange | enclod
Mammals (el ’ Each zoo tile, like a domino, is b‘l}‘a’s iﬁ'/fﬁl/dfﬂ; o
- Birds(red) ivided into two halves. On eac \
¢ Bird rym— divided hal h i
/g oy half, an enclosure for a different
:ephlgs (gray) animal type is shown.
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Playing the game
In just five years, create a marvelous zoo...

Each zoo director has five years to create his zoo and attract visitors. In each year, there are 5 auctions. At the
beginning of each year, the players turn over the top-most 5 zoo tiles from the stack and place them in order in a row
on‘the table (see figure 1, page 8). Each of these tiles is auctioned, separately, one at a time in the order drawn.

The auction of a zoo tile

Sfi:l%nulfcéneously, all players put any number of their coins in their closed fists as their bids for the next zoo tile being
offered.

When all players are ready, they simultaneously show their bids. The player with the highest bid (most coins) places
the coins he bid in the supply and takes the offyered zoo tile. The other players put their bid coins back behind their
Zoo entrances.

If there is a tie for the highest bid, the winner of the auction is the Flayer' whose flag is highest on the flagpole
among those tied with the highest bid. After a tie, the winning player places his flag unc?er' all'other flags on the pole,
moving other flags up.

Placing a zoo tile in a player’s zoo

When a player acquires a zoo tile at the auction, he must immediately add it to his zoo. He places the tile so that it
extends at least one path in his zoo. A path may not be interrupted by grass.

How do visitors come to the Zzoos?

After each new zoo tile is placed, the players check to see which zoo has the most attractive enclosures. Adjacent
enclosures of the same animal type (same color) combine together to make a combined enclosure. The attractiveness
of a combined enclosure is the sum of the stars in all the separate enclosures that make up the combined enclosure.
g‘ee f/l'gure 3a)... Adjacent means that the like-colored (stars) enclosures lay together half to half (like dominos).

oo tiles that touch onll?: diagonally are not adjacent (see figure 3b). 1f a player has separate enclosures of the
same anitmal type, only the one with the most stars counts for him. It is though any other enclosures of this animal
type do not exist for him. The way a path runs has no impact on the attractiveness of an enclosure.

fig. 3a: fig. 3b: As these 2 blue

: = enclosures are only
diagonally touching,
they are nota
combined enclosure.

These 3 tiles create a blue
enclosure worth 6 stars.
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‘ The ‘vis_ifof-s will spend
To show this, Lplag\s\
the enclosure th

eir time at the r active enclosures.
visitors of the color of the animal type

most attractive. Also, place one visitor
| type in the enclosure that is

(see figure 4a).

of the color of the ani
‘ econd-most attractive

Exception: as long as there is only Alan's blue enclosure is worth 5
one player with an enclosure of an stars and is more attractive than
animal fype in his zoo (no other - elither of Klaus" two blue

P| ayers have that animal type enclosures worth 3 stars each.

e : oot - Therefore,
enclosure), he ge'rs Jjust one visitor in Al attrects 2 blie vl ang

 this enclosure (see ﬂg{"" € 4a/ Klaus attracts 1 blue visitor.
Wheﬂp/aCIlzg visitors in enc, osures, As Klaus has the gﬂ/y orange

~ please be sure to leave all stars enclosure, he attracts just
visible. 1 orange visitor.

The visitors move throughout the game to the most attractive enclosures. Th
] cafor: 2 for the most aftractive enclosure of that color and 1 for the second-
. color.

~ If several players tie with the most attractive enclosure, the visitors will go toward the newer of them. Thus,
- theplayer, who just placed the tile that created the tie, will get the visitor(s) (see 4b)

&
fig. 4b:

Reiner has just placed a new zoo tile (X).
As a result of this placement, his gray
enclosure is now tied with Wolfgang's gray
enclosure with 5 stars. Thus, he attracts a
visitor from Wolfgang's gray enclosure as
his is the newest of the tied gray
enclosures.

How do trees come to the zoos?

Some of the zoo tiles have bushes. These green
zones add to the attractiveness of the zoos.
Accordingly, the zoo with the most bushes gets two
trees. The zoo with the second-most bushes gets one
tree (see figure 5).

Is best to place the trees in the zoo tile with the
st trees, but be careful not to cover any of the
pictures of the bushes.
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& How do park benches come to the zoos?
. Whenaplayer places a zoo tile that creates a closed dpc’rh, he
\ places a'park bench on the grass in the area surrounded by the

path (see figure 6a). Park benches, once placed, remain for the

entire game and are scored at the end of each year (see below). fig. 6b:

The end of an auction round

After a zoo tile has been auctioned and placed, the visitors, trees, and park benches are placed according to the rules
above. Then this auction round ends and the next zoo tile for this year is auctioned. =

Points at the end of each year

At the end of each year, players score points for their zoos and record them on the scoring block. At the end of the
first year, each player scores one point for each visitor, tree, and park bench in his zoo. At the end of the second

year, each visitor, tree, and park bench scores two points, at the end of the third year, each scores three points, at
the end of the fourth year, each scores four points, and at the end of the fifth year, each scores five points. v

Example: a player at the end of the third year with three visitors, two trees, and one park bench scores (3+2+1)=6 x 3
= 18 points. At the end of the fourth year, a player with the same number of visitors, trees, and park bencheswould &
score 6 x 4 = 24 points. e

Coins are worth no points. L

Income at the end of the year
At the end of each year (after each fifth zoo tile auction), each player takes one coin from the supply for each zoo
tile in his zoo (see figure?7).

fig. 7:

Wolfgang's zoo has 2 zoo ftiles.
He takes 2 coins from the supply.

Klaus has 3 zoo tiles
in his zoo and takes 3 coins.

Game end and the winner

e player with the most points after five years is the best zoo director and the winner!
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( see figure 8a ).

Ifter 13 auctions, Alan's bird enclosure has an attractiveness of 4 (2 + 2
rs) as both his bird enclosures are adjacent. With this, Alan has the most
ractive bird enclosure and gets 2 visitors in his bird enclosure. Klaus has

visitor for his second-most attractive bird enclosure with 3 stars.
ner also has a bird enclosure with 3 stars, but Klaus built his later.

Wolfgang's zoo has two reptile enclosures, but they touch each other

diagonally, so they are not ad jacent and do not combine for a combined

enclosure. The attractiveness of his best reptile enclosure is 3 - the
attractiveness of his second reptile enclosure with 2 stars has no value to
him. Klaus has a reptile enclosure with an attractiveness of 6 (two adjacent
reptile enclosures, each with 3 stars).

Klaus has 2 closed paths, each with a park bench. All other players each have

one closed path and, thus one park bench.

buebjjom g

( see figure 8b ).

At the beginnfng of the 14™ auction, the players bid for the fourth zoo tile of
the third year. The zoo tile for auction shows a sea creature enclosure, a bird

. enclosure, and one bush. Klaus and Reiner each bid 3 coins, Alan 2 coins, and

Wolfgang 1 coin. Because Reiner's flag is higher on the flagpole than Klaus' flag,
he wins the auction, pays 3 coins, and takes the zoo tile. Then Reiner moves his
flag to the bottom of the flagpole.

After the 14" auction, Reiner places the zoo ftile in his zoo. He is unable
to use the tile to create a closed path and so gets no new park bench. Reiner

- now has 3 bushes. As this is as many as Klaus has and Reiner placed his 3

bush later, he takes a tree

from Klaus and puts it in his zoo for having the second-highest number of
trees. The sea creature enclosure on the new tile does not help Reiner as he
did not place it next to his existing sea creature enclosure with 5 stars.
He places the new zoo tile with the other half (bird enclosure with 1 star)

| next to his other bird enclosure with 3 stars giving him a combined bird

‘enclosure with an attractiveness of 4. As Reiner has the newest most
«attractive bird enclosure, he gets 2 red visitors: one from Alan, whose bird
“enclosure is tied with Reiner's at 4 and 1 from Klaus, whose bird enclosure
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is now third-most attractive and will attract no visitors.

Let's score this situation as though it were the end of the 3 year ; 7 7 - K
(which it is not as the last zoo tile in the 3™ year must still be Variants for A rofessional zoo directors 1

auctioned). The players would score the following points: In each year, draw and auction zoo tiles until
Alan: 3 visitors + 1 park bench = 4 x 3 = 12 points 3 zoo tiles have at least 1 bush on them. For the
Klaus: 2 visitors + 2 park benches = 4 x 3 = 12 points fifth year you place all remaining zoo tiles.

'~ Reiner: 5 visitors + 1 free + 1 park bench = 7 x 3 = 21 points (This means that some years may have fewer

Ifgang: 4 visitors + 2 trees + 1 park bench = 7 x 3 = 21 points _ y ‘ s B tilec f I
roin'rs are added to the points earned in the first two years 1_ c_md other peRisie that 5 h‘lesﬁfor qt,lc'hon")”

later be added to the points earned in years 4 and 5.
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